COVER PLATES

Order symbol Code Dimensions mm Description

Polycarbonate (PC), IP 66 (EN 60529), Grey RAL 7035, Flame resistance UL 94-V1

MB 10215 3530215 140x49x 10 Cover plate = size 1
MB 10546 3530546 216 x85x 10 Cover plate = size 2
MB 10324 3530324 332x127 x 15 Cover plate = size 3

METRIC FLANGE PLATES

Order symbol Code Dimensions mm Description

Cable gland plates, Polycarbonate (PC), IP 65 (EN 60529), Grey RAL 7035, Flame resistance UL 94-V1

MB 10892 3530892 140x49x 10 Size 1 = 4xM20

MB 10537 3530537 140x49x 10 Size 1 = 1xM40

MB 10892 SET 3590892 Size 1 = incl. flange, gasket and connector set

MB 10891 3530891 216 x85x 10 Size 2 = 12xM20

MB 10860 3530860 216 x85x 10 Size 2 = 5xM25+6xM20 PUR gasket

MB 10861 3530861 216 x85x 10 Size 2 = 2xM50+4xM20, PUR gasket

MB 10862 3530862 216 x85x 10 Sizelz(z = 2xM16+3xM20+2xM25+2xM32, PUR Ty ] z
gasket - v _—— #

MB 10891 SET 3590891 Size 2 = incl. flange, gasket and connector set - -‘-.

MB 10860 SET 3590860 Size 2 = incl. flange, gasket and connector set - 4‘: -‘ ..,‘

MB 10861 SET 3590861 Size 2 = incl. flange, gasket and connector set | '\!_./

MB 10862 SET 3590862 Size 2 = incl. flange, gasket and connector set

Knock-out plates, Polycarbonate (PC), IP 65 (EN 60529), Grey RAL 7035, Flame resistance UL 94-V1

MB 10857 3530857 216x85x 10 Size 2 = 4xM12+4xM12/M20+4xM16/M25

MB 10889 3530889 216 x85x 10 Size 2 = 8xM20+5xM25/M16

MB 10890 3530890 216 x85x 10 Size 2 = 2xM32/M20+2xM40/M25

MB 10857 SET 3590857 Size 2 = incl. flange, gasket and connector set

MB 10889 SET 3590889 Size 2 = incl. flange, gasket and connector set

MB 10890 SET 3590890 Size 2 = incl. flange, gasket and connector set

PG FLANGE PLATES

Order symbol Code Dimensions mm Description

Cable gland plates, Polycarbonate (PC), IP 66 (EN 60529), Grey RAL 7035, Flame resistance UL 94-V1

MB 10151 3530151 140 x49 x 10 Size 1 = 4x PG13.5

MB 10149 3530149 140x49 x 10 Size 1 = 4x PG16

MB 10214 3530214 140x49 x 10 Size 1 = 3x PG21

MB 10014 3530014 216x85x 10 Size 2 = 12x PG16

MB 10015 3530015 216x85x 10 Size 2 = 12x PG13.5

MB 10016 3530016 216 x85x 10 Size 2 = 6x PG16+4x PG21
MB 10017 3530017 216 x85x 10 Size 2 = 4x PG16+3x PG29
MB 10019 3530019 216 x85x 10 Size 2 = 4x PG16+2x PG36
Knock-out plates, Polycarbonate (PC), IP 66 (EN 60529), Grey RAL 7035, Flame resistance UL 94-V1
MB 10593 3530593 216x85x 10 Size 2 = 9x PG11+5x PG9/16
MB 10594 3530594 216 x85x 10 Size 2 = 4x PG21/29

MB 10595 3530595 216 x85x 10 Size 2 = 13x PG16

MB 10596 3530596 216 x85x 10 Size 2 = 4x PG11/21+7x PG16

MEMBRANE FLANGE PLATES

Order symbol Description

TPE (Thermo Plastic Elastomer), IP 65 (EN 60529), Flame resistance UL 94HB, Grey RAL 7035, Tempera-
ture range -40°...+120°C

FMB 5F Size 1, Lead-through 8 (@2.5-25mm) = Optional RJ-45 lead-through
FMC 3F Size 2, Lead-through 7 (@3-55mm)

FMC 25F Size 2, Lead-through 29 (@3-26mm) = Optional RJ-45 lead-through
FMC 35F Size 2, Lead-through 43 (@3-30mm) = Optional RJ-45 lead-through
Set includes: Flange and MIB 10670/10671 plate connectors with screws

FMB 5F-SET Flange set, Size 1

FMC 3F-SET Flange set, Size 2

FMC 25F-SET Flange set, Size 2

FMC 35F-SET Flange set, Size 2

Set includes: flange and quick connectors (4 + 4 plugs) for plastic enclosures and for sheet steel cabinets
FMC 3FQ-SET Flange set, Size 2

FMC 25FQ-SET Flange set, Size 2

FMC 35FQ-SET Flange set, Size 2

224




PLATE CONNECTORS AND GASKETS

Order symbol Code Dimensions mm Description

Plate connector sets

MB 10671 3570671 Connector set, size 1 = incl. 4 screws

MB 10670 3570670 Connector set, size 2 = incl. 4 screws

MB 10672 3570672 Connector set, size 3 = incl. 4 screws

EKZA 7 3770472 Plastic screw, lock nut, flange gasket = size 1
EKZA 8 3770474 Plastic screw, lock nut, flange gasket = size 2
EKZA 9 3770347 Plastic screw, lock nut, flange gasket = size 3
QlockP-SET 3534903 Push-in connector set of membrane flange plates

for plastic enclosures = Incl. 4 plugs, size 2

QlockM-SET 3544903 Push-in connector set of membrane flange plates

for sheet steel cabinets = Incl. 4 plugs, size 2
Gaskets (EPDM Rubber)

MK 10437 3510437 Flange gasket = size 1 "
MK 10438 3510438 Flange gasket = size 2 &
MK 10439 3510439 Flange gasket = size 3
MK 10440 3510440 Flange gasket, size 1 = for smooth side
MK 10441 3510441 Flange gasket, size 2 = for smooth side a &
Plastic head screws
MB 10345 3570345 Plastic head screw (M6x25) = for size 1 flange
MB 10346 3570346 Plastic head screw (M8x25) = for size 2 flange
MB 10347 3570347 Plastic head screw (M10x30) = for size 3 flange
Lock nuts
M-6 3570576 Lock nut for plastic head screws = (Size M6)
M-8 3570577 Lock nut for plastic head screws = (Size M8)
M-10 3570578 Lock nut for plastic head screws = (Size M10)
Plate extension
MB 10391 3530391 Extension flange (height 25 mm) = Mounting with
4x MB 10392
MB 10392 3570392 Plastic head screw, size M8x50 -

CABLE ENTRIES AND BOXES

Order symbol Dimensions mm Description

Cable entries

EPA 1130 3550385 Cable entry, size 1 = 1 cable, 1x10-31mm
EPA 1230 3550386 Cable entry, size 1 = 2 cable, 2x10-31mm
EPA 2160 3550387 Cable entry, size 2 = 1 cable, 1x28-60mm
EPA 2260 3550388 Cable entry, size 2 = 2 cables, 2x28-60mm
EPA 1130 SET 3550055 Cable entry set = Includes: Cable entry, rubber
cushion, mounting screws and lock nuts
EPA 1230 SET 3550049 Cable entry set = Includes: Cable entry, 2 rubber
cushions, mounting screws and lock nuts - '
EPA 2160 SET 3550056 Cable entry set = Includes: Cable entry, rubber X :
cushion, mounting screws and lock nuts
EPA 2260 SET 3550052 Cable entry set = Includes: Cable entry, 2 rubber L
cushions, mounting screws and lock nuts » ?
HIBOX 16 4712221 Cable entry = with cable gasket 3
DSHIBOX 26 4712223 Cable entry = with two cable gasket L4

Cable entry boxes

MB 2260 3730260 Including: base, cover, cover screws, 1 blind plug,
1 pull-off = hose clamp with screws, membrane
cable gland, and plate connector set.

MB 2260A 3730261 Cable entry accessory set = Including: mem-
brane cable gland, pull-off, and hose clamp with
screws.

EPA-OE 3530700 280 x 280 x 100 Cable entry box

EPA-PL 3530702 380 x 280 x 150 Cable entry box

Other Accessories

MK 10426 3510426 Rubber cushion for cable @ 10-31 mm, size 1 =
for cable entry

MK 10428 3510428 Rubber cushion for cable @ 28-60 mm, size 2 =
for cable entry

MK 10704 3510704 Membrane cable gland for EPA-OE and EPA-PL
enclosures

MB 10717 3530717 Connection bridge and gasket = size 2

MB 10718 3530718 Connection bridge and gasket = size 3

MK 12198 4512198 Cable entry gasket for MB 2260, F2/12102 and
F3/12101

MR 12198 3512198 Hose clamp for MK 12198

225




